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LAW OF GENERAL CONTRACT-1

Time : 3 Hours] [Maximum Marks : 100

Note :— (i) The question paper contains three sections A, B
and C.

(i) All section are compulsory.

(iif) Section A carries 20 marks, section B carries 30
marks and section C carries S0 marks.

| SECTION-A
1. Fillinthe blanks ofthe following questions .

(a) Indian Contract Act 1872 come into force on

(b) Contract has been defined as an agreement enforceable
by law under section.................... .

(c) Anagreement not enforceable by law is stated to be
void under section......cccoeeeeeerennne

[P.T. O

DA PL_




BBAL-106/ - 2
BAL-106/BCL-106

(d)
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Consent defined in under section.......... e
Fraud defined in under section............... oo oo

An agreement enforceable by law at the instance of one
party and not of other party under section 2(i) is
called......ococeveicniiiennnn .

Under section 2(c) promise is the........cvvverreneeereenes .

An agreement is restraint of marriage under section 26

A contingent CORLract is......ovevrerreerrerernnnes .

A contract without consideration under section 25
1Sumeeeiereienann .

An agreement in restraint of trade under section 27
TN . '

Where one of the parties is under a mistake as to matter
ofthe fact ...cccevveeperrennns .

(m) The contractis........ccevrunee. .

®
(©)

®)

Tenderisan.......c.c........ .

An agreement not enforceable by law.is stated to be
void undersection...........coe..... .
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(q) Obligation of person who has recicved advantage under
void agreement or constract that becomes void under

SECHONu e eeeeereerreraennn. )

(r) According to under section 30 an agreement by way of

WAZET 15.ervreeenenrcsreerrens .

(s) Agreement contigent on impossible event, void under
SECHOMuueeurierecrerinasrrres .

(t) - A agrees to pay B rupees 1,000 if two straight lines
should enclose a space. the agreement is..........ccovevucnne.. .
SECTION-B
Note :— Answer any three questions out of five questions.
' 3x10=30

2. "All contract are agreement but all agreements are not

confract”". Comment.
3. Distinguish between the following :
{a) Voidagreementand illegai agreement.
(b) Void agreement and void contract.
4, 'Whatis consideration? Explain its essential ingredieﬁts with

the help of suitalbe example.
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5. ‘Whatis coercion? Explain its effect on contract.
6. What is mistkae? Discuss the effect of mistake of fact on
contract. ’
SECTION-C

Note :— All questions are compulsory. Each questions has internal

choices. 5x10=50
7. "Agreements by way of wager are void", Explain.

OR

"Agreement is restraint of trade are void". Is there any
exception of this rule? Explain.

8. Explain the different ways in which the obligation under a
valid contract is discharged.

OR

Discuss the doctrine of impossibility. Refer to decided case
law on the point. '

9. Slate various remedies available to the aggrieved party fora
breach of contract.

OR

What do you understand by anticipatory breach of contract?
Discuss the rights and liabilities of both the parties if
anticipatory breach of contract has occurred.
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10. What do you mean by specific performance of contract?

11.

OR
What is the difference between cancellation and rescission?

Explain the term "Free concsent”. What factors vitiate the
consent given by a person? Give example.

OR

What do you understand by wagering contract? Discuss the
legality of such contract. ‘
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